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EbLEROFATHE (R=LRBAHNE)

* Objective: design and build a wind turbine that can efficiently
harvest energy under low wind speed, test the wind system
against pre-determined criteria in a wind tunnel.

Our Wind Tunnel

Pitot tube Fan power: 260 W
support Max. wind speed: 8 m/s

>

Photoresistor Fan



HA LG RBHFRATE (K=TARE)

* Objective: design two containers, one of them is filled with
cold water (or ice), and the other one is filled with hot water.
Put the two containers outdoors for three hours under the
sunlight, and measure the temperature at the center of two
containers to compare which team’s temperature difference is
large. 57 e, W

CD o)

Ll_{.ﬁl 120 SHET Izn

b0 =10

Figure (a) The initial temperature of the two boxes, which filled with
cold and hot water. The initial temperature difference 15 95 C .
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Figure (b) After leaving outdoors for three hours under the sunlight, :
the temperature difference is 15 C.
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